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Probe Halte- trans - Fettsäuren 
A9 A10 A11 A12 A13/14 

in °C 
ST 3.0/2.0 
ST 2.1 115 
ST2.2 115 
ST2.3 115 
ST2.4 115 
HE 0.3 
HE 1.3 86 26 
HE2.3 95 26 
HE 3.3 105 26 
HE4.3 115 26 
HE5.3 125 27 
HE0.4 
HE 1.4 86 
HE2.4 95 
HE 3.4 105 
HE 4.4 115 
HE 5.4 125 

86 
95 
105 
115 
125 

62 15 
62 30 
62 60 
62 1800 
72 15 
72 30 
72 60 
75 15 
75 30 
75 60 

UT 1.1 140 4 
UT 1.2 140 8 
UT 1.3 140 12 
UT 1.4 140 23 
RM 
RUT 1.1 140 4 
RUT 1.2 40 8 
RUT 1.3 140 12 
RUT 1.4 140 23 



5 

8:1: 

Probe Halte-
zeit 
ins 

115 100 
115 500 
115 1000 
115 2000 

86 26 
95 26 

105 26 
115 26 
125 27 

86 46 
95 46 
105 46 
115 45 
125 46 

86 49 
95 62 

105 84 
115 49 
125 51 

AM 
UT 1.1 140 4 
UT 1.2 140 8 
UT 1.3 140 12 
UT 1.4 140 23 
RM 
RUT 1.1 140 4 
RUT .2 1 8 
RUT 1.3 140 12 
RUT 1.4 140 23 
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• ST2.X PT 1.X • • • • ~ ~ • • 0 • :;:: 3 • Q) (!) • (.') 3,0 - (.') 6,0 -

2,5 1 1 1 1 1 1 1 1 1 1 

0 1 2 3 4 0 2 3 4 
4,0 

HEX.3 PT2.X 
~ 3,5 ~ 6,5 - • • • • 0 0 

:;:: 3 
(l) (!) 

(.') 3,0 (.') 6,0 -• • • • • 2,5 5,5 1 1 1 1 

0 1 2 3 4 5 0 2 3 
4,0 7,0 

• • HEX.4 PT3.X 
~ 3,5 ~ - • • 3 • • 3 • (!) • (!) 

(.') 3,0 • (.') 6,0 -

1 1 1 1 

0 1 2 3 4 5 0 1 2 3 
4,0 7,0 

HEX.5 • e UT 1.X 
~ 3,5 • ~ 6,5 - • 0 • 0 

3 • 3 • (!) • • (!) • (.') 3,0 • (.') 6,0 -

2,5 5,5 1 1 1 1 1 

0 1 2 3 4 5 0 1 2 3 4 

X e RUT 1 
~ 6,5 • • " 3 • • (!) 

(.') 6,0 

0 1 2 3 4 

X 

1: 1 1 
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2.X 1.X 

::R Q :R 0 
4,0 

3i • • 3i • • • • II> • • <!) • CJ 3,0 • CJ 3,5 

0 1 2 3 4 0 1 2 3 4 

4,5 
HEX.3 PT2.X 

~ 3,0 - ::R 4,0 - • • 0 

:;:: • • • • 3i • © • <U 
CJ - 0 3,5 -

• 2,0 1 1 1 1 1 1 3,0 1 1 1 l 

0 1 2 3 4 5 0 1 2 3 

4,5 

• HEX.4 PT3.X 

:R 0 3,0 ::R 
" 

4,0 - • • :;:: • 3i • <U • Q) 

Cl 2,5 • • • 0 3,5 -

2,0 3,0 1 1 1 1 

0 1 2 3 4 5 0 1 2 3 

4,5 
HEX.5 UT 1.X 

::R 
" 

3,0 ::R 0 
4,0 -

?i ?i • • <U • <l.l • • • (.'.) Cl 3,5 -

3,0 1 l 1 1 1 

0 1 2 3 4 5 0 1 2 3 4 

X 
RUT 1.X 

:R 0 
4,0 -

::: • <ll • • • • (.'.) 3,5 -

3,0 1 1 l 1 ! 

0 1 2 3 4 

X 


